EEMFERENTYIT(VTRFERS

ZF52keih _ _

No. |EK# Pligs SQ1 SQ2 | SQ3 | SQ%F| BP1 BP2 BP3 |BP¥f| ST | DL1 | DL2 | DL3 [DL%% |[Total |WilksFormula |WilksPoint |lEfi
2(luE #EE | O] 41.00 85 97.5 105 — 55 60 — [ 160 85 95 100 — 265 1.4724 390.186 1
1E2H =8 O| 4805| 105 1125 | — 50 57.5 — [ 170 [ 100 | 110 | 1175 | — | 2875 1.3224 380.19 2

X F60kgih _

No. [K%& P|i&= SQ1 SQ2 | SQ3 [ SQ%f| BPI1 BP2 BP3 [BP%f| ST | DL1 | DL2 | DL3 |[DL%F |[Total |WilksFormula |WilksPoint |JBf
9|l FF O] 5330] 110 120 125 — 65 70 72.5 — [ 1975 120 [ 130 [ 1375 | — 335 1.223 409.705 1
5|%H EX O] 5420] 100 — 77.5 80 — | 180 | 140 [ 150 | 1525 | — | 3325 1.2071] 401.36075 2
6|8 H=E O] 5855 105 — 65 70 — | 175 [ 120 | 130 — 305 1.1355]  346.3275 3
IFE & 53.30 80 90 — 75 85 — | 175 80 90 100 | — 275 1.233 339.075 4
RIEEEES O] 5260 85 95 — 50 55 — | 150 90 100 110 — 260 1.2356 321.256 5
e LS 53.90 75 80 — 40 45 475 — | 1275 80 90 100 | — | 2275 1.2123] 275.79825 6
7|FEiE EHER 56.55 60 65 70 — 45 50 — | 120 30 90 100 | — 220 1.1668 256.696 7

X F60kgiB £k _ _

No. |K% Pl#gE SQ1 SQ2 | SQ3 | SQ%| BP1 BP2 BP3 |BP%¥f| ST | DL1 | DL2 | DL3 [DL4¥ |Total |WilksFormula |WilksPoint |IE{i
12|E% H<H [O] 7115] 120 135 1425 | — 75 85 87.5 — [ 230 [ 125 | 135 - — 365 0.9834 358.941 1
11840 A0 O] 63.75[ 100 105 110 — 67.5 72.5 75 — [ 1825 130 | 140 150 | — [ 3325 1.0638] 353.7135 2
10[f%8 04t Of 70.90 75 — 35 40 45 — | 115 90 100 105 | — 215 0.9862 212.033 3

B F52keik _

No. [K% P|iR= SQ1 SQ2 | SQ3 | SQ%f| BPI1 BP2 BP3 [BP%f| ST | DL1 | DL2 | DL3 |[DL%F |[Total |WilksFormula |WilksPoint |JBf

13[/NEH theE O] 5135] 150 160 — 105 115 122.5 5| 2825 | 150 | 160 170 | — | 4525 1
5 ¥56ke iR _ .

No. |K% Pl#gE SQ1 SQ2 | SQ3 | SQ%| BP1 BP2 BP3 |BP%¥f| ST | DL1 | DL2 | DL3 [DL4¥ |Total |WilksFormula |WilksPoint |IE{i
15| KA HBIE O] 5540] 180 190 200 — 110 120 130 — | 330 [ 195 [2125] 225 | — 555 1
18[7k% #3R=FE [O] 5520] 130 140 — 95 105 — | 245 [ 140 | 150 — 395 2
177k B {5k O] 5410 1125 120 | 1225 | — 115 120 - — | 2425 140 [ 150 — [ 3925 3
16[d L K& O] 54.60 I12|5 |13ri I 'I — |75I 8I0 |82|.5 — [ 2175 145 | 155 I 'I — | 3725 4

3
14|AN2H B O] 5410] 125 1325 | 1375 | — 70 75 80 — [ 21751 140 | 150 — | 3675 5
2 ¥ 60k iR _ _

No. |K% Pl#gE SQ1 SQ2 | SQ3 | SQ%| BP1 BP2 BP3 |BP%¥f| ST | DL1 | DL2 | DL3 [DL4¥ [Total |WilksFormula |WilksPoint [IE{i
20 K3 BAE [O] 59.70 |1 7(|) 1|82.|5 |19(? — 1| 12.|5 1z|0 — | 310 [ 185 | 195 2|02.|5 — | 5125 1
19|== {87 Ol 5860[ 130 145 — 90 97.5 102.5 — | 2475 170 — [ 4175 2
23[1UE B Ol 5940 115 130 140 — 70 77.5 — [ 21751 130 | 150 — | 3675 3
22(81% —# O] 5950[ 130 — 90 — | 220 | 140 | 145 — 365 4
21]t23t AR Of 5620] 85 90 100 | — — | — | — | — [ — [ =] — iR




B F67.5kefk

No. |4 P |#&= SQ1 SQ2 SQ3 | sQ%F BP1 BP2 BP3 BPH:| ST DL1 | DL2 | DL3 |DL%f |Total |WilksFormula [WilksPoint [IE{i
30[[Ek BFH O] 66.50] 200 210 — 170 180 185 — [ 395 [ 205 | 215 225 | — 620 1
FAEITIED T O] 67.10 |18(|) g) IZO? — |120I I12|7.5 I- — [ 3275[ 200 - I 'I — | 5275 2
29|FF Fih O] 6260 |14|5 |155| 1|62.|5 — 1| 17.|5 12|7.5 13|2.5 — | 295 | 160 [ 180 |195i — 490 3
26|dLE SH# 65.60 |16|5 |175| 180 — |90I | 10|0 | — | 280 | 170 [ 180 lwci — 470 4
27|&F L FH 61.00 [ 140 150 160 — 100 110 115 — [ 275 T 170 | 185 — 460 5
3|z E— O] 62.00] 150 165 — 120 125 — | 290 [ 160 — 450 6
24|HE R 66.20 [ 140 150 — 100 105 — | 255 170 | /8RR | — 425 7
25| K;E IEfA O] 67.10] 110 120 — 90 100 — | 220 | 170 | 180 185 | — 405 8
28[fc< A #m |O] 6290 150 160 — 65 70 — | 230 | 150 | 160 — 390 9

B 7 75keiR _ _

No. |K% P &= SQ1 SQ2 | SQ3 | SQ#¥F| BP1 BP2 BP3 |BP%f| ST | DL1 | DL2 | DL3 |DL%¥ |Total |WilksFormula |WilksPoint |IBE{
40|5E FH O 7460 210 — 160 — [ 375 [ 190 | 210 [ 2225 ] — | 5925 1
34[F|II_Fo8 Ol 7400] 220 235 — 145 — [ 380 [ 205 | 210 : — 590 2
36| KF {EN O| 6820] 165 175 185 — 110 120 — | 305 | 165 [ 175 185 — 490 3
35| KM HE O 7160] 140 150 155 — 100 110 - — [ 265 [ 190 | 210 — 475 4
39 T 73.60 [ 155 — 112.5 117.5 125 — [ 280 [1625] 170 — 450 5
38|ARER &HAI 71.90 | 165 KR | /R — - 107.5 INA — [ 27251 1575 — 430 6
37|1LEE #H™E O] 6895[ 120 130 135 — 50 80 — [ 215 T 130 | 145 155 | — 370 7
BEEFE FR Of 7290] 100 115 — 50 57.5 — | 1725 140 155 | — [ 3275 8

5 F82.5kegik _

No. [K% P &= SQ1 SQ2 | SQ3 [ SQ%f| BPI1 BP2 BP3 [BP%f| ST | DL1 | DL2 | DL3 |[DL%F |[Total |WilksFormula |WilksPoint |JBf

6]|=¢ & O] 7530 230 - - — 220 230 235 5| 465 | 200 | 215 225 | — 690 1
[ ] [ ] [ 1 [3] [ 1 I | [

44\ FBFE O] 79.90] 230 250 260 — 170 185 — | 445 T 200 | 210 220 — 665 2

DIAR EF O] 81.40[ 255 — 155 — | 410 [ 220 | 230 240 — 650 3

47|= 5 thid O] 7730 II |185| I195| — |110I | 120 1225 — [3175] 180 | 190 lzosi — | 5225 4

45|E F 79.90 170 — 110 — [ 280 [ 190 [ 200 | 205 | — 485 5
[ | [ | [ 1 3] [3] | 1.3 [ |

437 EXE O 80.90[ 160 — 100 110 120 — [ 280 [ 175 [ 190 [ 205 | — 485 6

41)hH B OJf 79.00] 110 120 — 80 95 — | 215 | 120 | 140 — 355 7




5 F90kg#k

No. |K% PliE=E SQ1 SQ2 | SQ3 [ SQ% | BP1 BP2 BP3 |[BP%f| ST | DL1 | DL2 | DL3 |[DL%¥ [Total |WilksFormula |WilksPoint |JEf
49|+ BRR Ol 8950 255 2725 | 280 — 220 — | 500 | 280 | 300 — 800 1
I [ | [ | B [l s [ 3 [ |
48| H ¥ Ol 85.60 I17|5 I185| |195i — |95| I1o|z.5 — [ 29751 155 | 175 1|87.I5 — 485 2
3

51| =Fm [O| 8720 160 180 190 — 105 — | 295 | 150 [ 170 190 | — 485 3
50[2)1] B 8330 110 125 135 — 95 1025 — | 2375 165 | 180 . — | 4175 4
52[:FIH F0E Ol 8470 110 120 — 65 — | 185 [ 170 | 190 | 200 | — 385 5

53| 8)I| #& O] 8260 150 — 100 — | 250 — — — —

5 F100kgih _
No. |K% PliE=E SQ1 SQ2 | SQ3 [SQ% | BP1 BP2 BP3 |[BP%f| ST | DL1 | DL2 | DL3 |[DL%¥ [Total |WilksFormula |WilksPoint |JEf
54|58 HEEH O] 9260] 2175 230 240 — 155 162.5 167.5 — | 4075 2375 | 2525 — 660 1
58 ¥ 100kgiB R _ —
No. |K% PlRE SQT SQ2 | SQ3 [ SQE | BPI BP2 BP3 [BP%f| ST | DL1 | DL2 | DL3 [DLY4F [Total [WilksFormula |WilksPoint [IB{i
55|FNiE ERE Ol 12490 260 275 — 220 230 505 | 240 | 250 [ 262.5 [280.5] 767.5 1
57[48@H FnE O] 100.10 [ 220 240 — 140 147.5 152.5 — | 3925 [ 205 | 225 : — | 6175 2
58| 8k O] 100.60 [ 180 195 210 — 100 110 — [ 305 | 190 | 200 | 210 | — | 515 3
[ 1 [ 1 [ ] [ 1 1.2.3 I [ 1

56| E— o] — — — — — — — — — — — — — — | = — — —
59[FH —3h o] — — — — — — — — — — — — — — | = — — —




F—ERESEFER/ T —IT1 T BFERE(H18. 12A3H REXH)

ZF48kefk
K% =1 FE SQ1i SQ2 SQ3 SQf% BP1 BP2 BP3 BP%F ST DL1 DL2 DL3 DL§% Total L5
HE B THEZ 3 110 120 — 70 75 80 85 200 110 115 120 — 320 1
% F56kekk _ _
K& =L FE SQ1 SQ2 SQ3 SQiF BP1 BP2 BP3 BP4F ST DL1 DL2 DL3 DL% Total 254
EE hF | mEEE 2 100 110 — 55 60 — 170 60 — — — 230 1
ZF60keik
K% =1 FE SQ1i SQ2 SQ3 SQf% BP1 BP2 BP3 BP%F ST DL1 DL2 DL3 DL§% Total L5
it FE | TERES 3 70 80 — 60 65 — 145 90 100 105 — 250 1
5 F52ksik _ _
K& =R | ZE SQ1 SQ2 SQ3 SQEF BP1 BP2 BP3 BP4F ST DL1 DL2 DL3 DL% Total 254
AH kX [(KRSXEE 3 100 105 110 — 70 80 — 190 120 — 310 2
1BEE E|n | KERENFERE 3 80 875 — 65 — 152.5 110 115 — 267.5 3
IEM FEith [ KIrE B 3 140 145 — 110 — 255 150 — 405 1
B F56ks#k _ _
K& =R | ZE SQ1 SQ2 SQ3 SQEF BP1 BP2 BP3 BP4F ST DL1 DL2 DL3 DL% Total 254
M BFE (ARESLERE 1 - 62.5 — 425 — 105 90 — 195 3
AR A | FHWE= 2 100 110 — 70 75 — 185 150 160 170 — 355 1
=A ES [EEETE)I] 2 100 110 120 — 60 — 180 120 — 300 2
5 F60ke#k _ _
K& =L FE SQ1 SQ2 SQ3 SQEF BP1 BP2 BP3 BP4F ST DL1 DL2 DL3 DL% Total 254
A HE | EEEIFI 2 60 70 80 — 35 40 52.5 — 1325 90 100 110 — 2425 1
5B F67.5ke#k
K% = FE SQ1i SQ2 SQ3 SQf% BP1 BP2 BP3 BP% ST DL1 DL2 DL3 DL§% Total L5
=R | SamiEFA 1 145 150 152.5 — 105 105 110 — 262.5 160 170 175 — 4375 1
= = [EERTH 2 100 110 120 — 65 70 — 190 140 155 — 345 2
RN E T, 1 80 — 50 55 65 — 145 100 120 135 — 280 4
B0 Mt |[EEEIH 2 100 110 122.5 — 55 60 65 — 187.5 120 130 150 — 3375 3
5 F75ke#k _ _
K% B FE el SQ2 SQ3 SQf BP1 BP2 BP3 BP%F ST DL1 DL2 DL3 DL Total lIg iz
BN A |[EERTH 2 100 120 — 55 70 — 190 100 — 290 1
=g A& ke 1 — — — — — — — — — — — — — — —
5 F82.5ke#k
K% =R FE SQ1i SQ2 SQ3 SQf% BP1 BP2 BP3 BP%F ST DL1 DL2 DL3 DL§% Total L5
Bl CE [KReXkEr 2 110 120 — 725 75 — 195 135 145 — 340 2
WA EF | KRS 1 90 100 - — 50 — 150 110 122.5 135 — 285 3
thieh @Bk EEETEN 3 110 130 150 — 65 75 — 225 160 180 — 405 1




5 F+82.5keik

K& =R | 2E el SQ2 SQ3 SQ% BP1 BP2 BP3 BP%F ST DL1 DL2 DL3 DL§% Total 53
ME T [ KRE B 2 160 170 — 87.5 92.5 107.5 — 2775 170 — 4475 3
= BB [ KESiEE 2 185 195 205 — 100 110 120 — 325 180 195 — 520 1
=2E A [ KiRENERE 3 110 125 140 — 80 80 — 220 130 150 — 370 4
EA 2% |[EEEE] 3 180 200 — 100 110 — 310 170 — 480 2






